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4. Write these amounts of money as pence and put them in descending order.

£550

545p

£405

504p

620p

£0.26

612p

£60.20

156p

£160

1000p

£1050

4467p

£44.06

4406p

£6.04
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1. Write the amounts of money as pounds and add in the correct symbol in between to compare them:

@) £350 Q 345p b)78p Q £7.08 ¢) 120p Qso.zz
d) 456p Q £4.60 ) 2306p Q £23.06 1) 2008p Q £2088

2. Write the amounts of money as pence and add in the correct symbol in between to compare them:

@) £0.60 Q 6 b)88p Q £0.88 o) 127p Q £0.27
d)353p Q £5.33 ) 1399p Qmaq.oo ) 8001p Q £810

3. Write these amounts of money as pounds and put them in ascending order:

£350 345p £305  430p 120p €022 1z £1120

456p  £460  4006p  £4650 2367p  £2306 3444p  £26.03
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ROW OF COINS CHALLENGES

Use the same coins (above) for both challenges.

CHALLENGE A

Put the coins above in a row so that:

« the total of the first 3 coins is £1.30.

the total of the last 3 coins is 65p.

the highest value coin is not the first coin in the row.
the total of the middle two coins is 15p.

the last coin is worth half the value of the first coin

CHALLENGE B

Put the coins above in a row so that:
« There are two coins in between the two 10p coins,
 The last coin is worth twice as much s the first coin.

« The middle two coins are worth 25p.
« The total of the first 3 coins is 65p,
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Emily, Tim and Jane are at the shop paying for sweets.
Tim has got £152 and Jane has got 146p.
Emily has got more money than Jane but less money than Tim

How much money could Emily have? Explain your answer.

Tanvi and Toby have collected money for charity.
Tanvi has collected 354p whereas Toby has collected £3.54.

Tanvi says, "I have collected more money than Toby because
3.54 is @ smaller number than 354."

Ts she correct? Explain how you know.

Use these digits fo make a price that is more than
three pounds bu less than five pounds.

How many prices can you make following these rules? 3

Put all of your answers in ascending order.

What would you rather have, seven 20p coins or three 50p ;@

coins? Explain your answer fully. <5




